4

| 3

\ 4

2

CLOPAY MODEL 3200: 24 GA. EXTERIOR STEEL SKIN REVISIONS
" ", L] " 1
MODEL 240/3200/3220 UP TO 22'2"W x 18'0"H MAXIMUM OPAY M 3220: 20 GA. EXTERIOR STEEL SKIN REV. NO.| ZONE: | DATE: ECN NO.| APPVD: DESCRIPTION
04 = 08/2012 = - REVISED FOR TDI.
(1) 20 GA. X 2° GALV. STEEL BACKER PLATE HOLMES MODEL 240/240G: 24 GA. EXTERIOR STEEL SKIN /
AT EACH INTERMEDIATE HINGE LOCATION. 05 = 06/2013 - — REMOVED ACRYLIC GLAZING. SPECIFIED FV DIMENSIONS.
BACKER PLATE ATTACHED WITH DOUBLE SIDED Eg,?“gnsj&smm" A-A
ACRYLIC ADHESVE TO BACK OF DOOR. — A VIEW ‘B’ ADJUSTABLE TOP 06 - 08/2016 - - REMOVED WIND SPEED TABLE.
ROLLER BRACKETS
— CCHANNEL SEE 07 - | 02/2022 - - |REVISED FOR TOI.
SECTION A—A FOR
| DETAILS OPTIONAL STOP MOULDING BY DOOR INSTALLER (TO SUIT)
OPTIONAL ALUMINUM FULL VISION WINDOW LITE SECTIONS AVAILABLE, SINGLE PANE OR INSULATED. (EA%@'FSE) 16 GA. MIN. GALV. STEEL DOUBLE END STILE
{—— iALL PANES ANNEALED GLASS OR STR(;NGER SINGLE PANES §" OR THICKER. INSULATED WiNDOws ~ \=\on SR} ]
" THICK, CONSISTING OF (2) PANES §" THICK. MAXIMUM DLO: 33" X 21—3/4". '
# s # # # o 4 # 7 # # ¢ SECTIONS TO HAVE SAME RE?NFORCEMENT AS OTHER SECTIONS EXCEPT AS N / Teb o VISION J AM B CO N F' G U F\) AT' O N
INSIDE SLIDE BOLT
A 11 |
fi WO SLIDE BOLT LOCK
POINT ENGAGES INTO VERTICAL
EW ‘A (MIN) TRACK. ONE LOCK ON
LOCKING EACH SIDE OF DOOR.
REQUIRED T PRODUCT COMPUES 14 GA. GALV. STEEL CENTER HINGE FASTENED TO
! b 6" C~CHANNEL STRAP; (7) STRAPS PER WITH THE 2018 IBC/IRC. LU TS IN,s,,:I,',),E-SK'N WA #T4508 HSHEET METAL SCREWS.
¥ SECTION. OPTIONAL FULL VISION SECTIONS AND TRACK (v "
o 8 HAVE (9) STRAPS PER SECTION. RETAIES: 7/16° PUSHNUT INSTALLED DN ROLLER SHAFT
NOTE
3 CENTER STILES ALWAYS 22" FROM CENTER TO
== CENTER, FOR ANY GNEN-DOOR WD H GIMENGION 14 GA. GALV. STEEL ROLLER HINGE FASTENED TO END STIkES
— 2 B ‘B’ IS THE LEFTOVER DIMENSION ON BOTH ENDS W/(4) #14x5/8" SHEET METAL SCREWS AND (2) 1/4"x3/
TYP . OF THE DOOR. THIS DIMENSION WILL NOT BE ggﬁg@‘ :\'72:1‘.:\':3% E‘fhé&'séﬂ'ézwg‘é’?ﬁsb%m " SELF TAPPING SCREWS. (VIEW "A")
——— MAX. DOOR WIDTH 22'-2" N TINEL CREATERTTHAN 123K O EESSITHAR 1872 PANES ANNEALED GLASS OR STRONGER. SINGLE PANES 3° STEEL LONG STEM ROLLER
C- 3" ROLLER CARRIER PART " OR THICKER. INSULATED WINDOWS 3" THICK,
# 0120394, MOUNT WITH CONSISTING OF (2) PANES §" THICK. MAXIMUM DLO:
anrs s SELF DRLLNG 33" X 21-3/4".
A "E” FULL VISION SECTIONS TO HAVE SAME REINFORCEMENT
Lo RIS NgyCBT'i:gN(S)F vy £ HORIZONTAL TRACK SUPPORT BY AS OTHER SECTIONS EXCEPT AS NOTED S ECTIO N B _ B
Up 70 B=0" y ATTACH THE 6" x 2—1/4"x 12 GA. STEEL DOOR INSTALLER (TO SUIT)
T—3" THRU 0-0" = REINFORCING PLATE TO THE UN_DERSIDE OF THE
= 0 12°-0" C—CHANNEL WITH (4) 1/4"x3/4" =
g‘,. "”gu Y SELF TAPPING SCREWS AT THESE LOCATIONS.
T TRRUE =08 3" GALV. TAPERED STEEL TRACK AND ANGLE, SILICONE FILLED CHANNEL SEPARATES
16'=3" THRU 18'=0" | 9 TRACK THICKNESS: .101". ANGLE THICKNESS: .0B0" FRONT AND BACK SKIN OF DOOR

MAX. SECTION HEIGHT: 24"

(4) #14x5/8" SHEET
METAL SCREWS

(2) 1/4"x3/4" SELF

& TAPPING SCREWS "
14 GA. END HINGE 14 GA. INTERMEDIATE HINGE
VIEW A" VIEW "B

N VERTICAL /HORIZONTAL TRACK
JUNCTION. TWO 1/4™ BOLTS
& NUTS FOR EACH TRACK.

14" MAXIMUM SPACING
FROM LAST MOUNTING
SLOT TO TRACK JUNCTION

P

OPENING HEIGHT = DOOR HEIGHT

ADDITIONAL MOUNTING SLOTS REQUIRED FOR DOORS
OVER 7°0" HIGH SPACED AT 12" CENTERS

TRACK CONFIGURATION

ONE )" TRACK BOLT AND NUT
AT EACH MOUNTING SLOT

LOCATION.
DOOR i NOTE: DOUBLE TRACK LOW
_H;'[QHI "L HEADROOM, HI-LIFT TRACK,

THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE
OR DOES NOT MEET THE

TIONAL BUILDING CODE BUT
IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS
REGIONS (FBC / IBC CHAPTER 18).

ANCHOR NOTE: FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF THE MAXIMUM
ON—-CENTER DISTANCE. HIGHEST ANCHOR INSTALLED AT LEAST AS HIGH AS THE DOOR OPENING.

/t:mmuous ANGLE MOUNT
TRACK FASTENED 10 2x8
TIER YELLOW PINE JAMB WITH
e 5/1871-5/8% LG_ LAG
SCREW PER TR

STEEL JAMBS WOOoD_JAMBS
2,000 PSI MIN 2,000 PS5 MIN 3/16° NIN. STEEL e
CONCRETE CONCRETE JAME /a0 ur MIN.
. T 1=1/8" WASHER REQ'D)
3/ Dk x 1-1/2 EuBED &‘_ '_{& MAY B8 BACK-FRLID yee w% oc 0
SLEEVE cHoR ~TAN WITH CONCRETE, BUT il SECURE 248 WO0O
W MAX. O.C. p P i WAX. G.C.
SECURE 268 JAMB P NASiR Rego s TO SECURE CSINK IF NEEDED.
I 9" MAX. O.C. ANGLE TO l
3 MIN. EDGE DIST, T0 CONCRETE. ST
3° MIN. EDOE DIST.

VERTICAL LIFT TRACK ARE

ALSO AVAILABLE.

NOTE: THE DESIGN OF THE SUPPORTING
STRUCTURAL ELEMENTS ARE THE RESPONSIBILITY
OF THE PROFESSIONAL OF RECORD FOR THE

FOLLOW-THE—ROOF TRACK, AND
AVAILABLE OPTIONS. 3" TRACK

1.95" THICK, 14 DENSITY

EXPANDED POLYSTYRENE 7
FOAM_ INSULATION  LAMINATED

TO BOTH EXTERIOR AND

INTERIOR SKINS.

TONGUE AND
GROOVE JOINTS

24 GA. MIN. EXTERIOR STEEL
WITH GALV. &POLYESTER FINISH

27 GA. MIN. INTERIOR STEEL SKIN
WITH GALV. & POLYESTER FINISH

BUILDING OR STRUCTURE AND IN ACCORDANCi‘“\-“‘\

WITH CURRENT BUILDING CODES FOR THE_~I:O
LISTED ON THIS DRAWING.

CONTINUOUS ANGLE MOUNT
TRACK FASTENED T0 2x8 g2 OR

PtNEJAN WH
scum!ﬂ

LG.LAG

?5? r,:"

I—-Z' THICK

6" X 2-%*

BACKER PLATE

14 GA. GALV.
HINGE. (SEE VIEW A)

(2 BRACKETS PER SIDE)

STEEL ROLLER

ONE 6" TALL, 16 GA. C—CHANNEL PER DOOR SECTION.
(1) 1/4°x3/4" SELF TAPPING SCREW PER END STILE AND

LOCATION. (SEE VIEW "C7)

12 GA. GALV. STEEL BOTTOM BRACKET. ATTACHED
WITH (4) #14x5/8" SHEET METAL SCREWS.

3" TALL x 20 GA. GALV. STEEL U-BAR. ATTACHED ONE AT THE
TOP OF EACH SECTION EACH U-BAR ATTACHED WITH (2)

1/47x3/4" SELF TAPPING SCREWS AT EACH BACKER PLATE & 4
SCREWS ON EACH END STILE

12 GA. GALV. STEEL TOP ROLLER BRACKET. EACH BRACKET
ATTACHED W/(4) #14x5/8 SHEET METAL SCREWS. ADJUSTABLE
SLIDE ATTACHED TO TOP BRACKET WITH (2) 1/4"x1/2" BOLTS AND
NUTS PER BRACKET.

1-1/4" WIDE MIN. x 16 GA. GALV. STEEL STRAP. EACH
STRAP ATTACHED W/(3) 1/4"x3/4" SELF TAPPING
SCREWS (TWO TO DOOR, ONE TO C—CHANNEL).

X 12 GA, STEEL PLATE, SEE VIEW °“E’

VIEW "C”

6" TALL C—CHANNEL
16 GA. GALV. STEEL
MIN YIELD STRENGTH SOKSI

]

[ Tt

5/8" -

DESIGN ENGINEER: MARK WESTERFIELD, P.E.
FLORIDA P.E. §4849

A ALUMINUM EXTRUSION & VINYL WEATHERSTRIP. ~DESIGN LOADS: +30. °_ =300 PSP MANUFACTURING PRODUCT CDDE:
< SECTION A—A (SIDE_VIEW) TEST LOADS: +45.0, ~45.0 PsF MPC: C-DSIE-1F 447
£LD % Unless Stated Otherwise | () 85 Duke Boulevard | CLOPAY WINDLOAD RATING
1| rolaeeS o (m Blopay eSS Wis
27 ! el 0= +.031 CORPORA‘!‘ION Fax No. 513-770-4853
c‘ﬂd?&? ORP. @ = 588 = :-8(1)2 DESCRIPTION: MODEL 240/3200/3220 WINDLOAD 22'-2"
ALL RIGH s @ES;RVED 0000 = +.001 |DRAWN BY: RJK DATE: 11/08/04/SCALE: NONE  |pwg.
Thied Aogh 7 = Degrees ~ +1/2° |CHECKED BY: - DATE: — SHEET 1 OF 1 [SIZE
Prtla i 9 Unless Stated Otherwise
jection .~ DIMENSIONS ARE IN INCHES.| DWG. NO.: 103320 VER: TDI

2




